Name: ______________________________________________			 Nov 29, 2022
											Mr. Formaran

4.2 Concept 1

Greenhouse Gases and Effect
https://www.youtube.com/watch?v=SN5-DnOHQmE
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Name: ______________________________________________			 Nov 28, 2022
											Mr. Formaran

4.2 Concept 2

Global Wind Systems
https://www.youtube.com/watch?v=NQ3Tj-tdQIk
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Name: ______________________________________________			 Nov 30, 2022
											Mr. Formaran

4.2 Concept 3

Continents and Oceans of the World
https://www.youtube.com/watch?v=VGxssWl99U8
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Ocean Currents
https://www.youtube.com/watch?v=1bxU6-8he_w



























Why the Atlantic and Pacific meet but never mix
https://www.youtube.com/watch?v=NhBQfUVWLFk


[image: ][image: Text

Description automatically generated]Write the number that correspond to the correct current.






































Name: ______________________________________________			 Dec. 1 , 2022
											Mr. Formaran

4.2 Concept 4

Photosynthesis and Cellular Respiration
https://www.youtube.com/watch?v=rXzN89I4_Yk
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Global Wind Systems.
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Date Period

North Pole
(indirect sun rays)

polar easterlies
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(indirect sun rays)

== prevailing westerlies

Due to the earth's rotation and geographical features, wind currents
are deflected and various wind and pressure belts are formed.
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vertical cross section of wind belts from the equator to the North and South Poles

Wind belts are caused by differences in air temperatures and atmo-
spheric pressures.

Use the above diagram to answer the following questions.
Winds that flow from the horse latitudes toward the doldrums are called the

Why is the equator a low pressure area?

At 30° S latitude, the air is rising/sinking. (circle one)
What is the name of the global wind located between 60° and 90° latitude?
Air at the horse latitudes is sinking/rising. (circle one)

Winds at the equator are converging or diverging?

N 2w NPE

Desert climates would be found at which latitudes?

Name the global wind that would affect each of the following locations.
8. Nome, Alaska (65° N)

9. Rio de Janeiro, Brazil (22° S)

10. Mexico City, Mexico (20° N)

11. Ashburn, Virginia (37° N)
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Continent and Ocean Map

Label the 7 continents and 5 major oceans on the map:
Africa, Antarctica, Asia, Australia, Europe, North America, South America
Arctic Ocean, Atlantic Ocean, Indian Ocean, Pacific Ocean and Southern Ocean
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WORD BANK

1-- California Current ** 3-- Peru Current 5-- Gulf Stream ™
2-- Japan Current 4-- Canary Current  e--Brazil Current
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Photosynthesis and Respiration

What is the relationship between photosynthesis and cellular
respiration?
Why
9

Photosynthesis and cellular respiration are important cell energy processes. They are connected in
ways that are vital for the survival of almost all forms of life on earth. In this activity you will look
at these two processes at the cellular level and explore their interdependence.

Model 1 — Comparison of Photosynthesis and Respiration

vig Photosynthesis:
< > 6CO, + 6H,0 + energy — C¢H206+ 60,
PYA.
Sunlight '\ \\\ Chloroplast
energy %\ /

CO,+ ®,0

Mitochondrion

Respiration:

energy CeH ;06 + 60, — 6CO,+ 61,0 + energy

(ATP)
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2. Refer to Model 1.
a. In what cell organelle does cellular respiration occur?
MITOCHONDRION

b. What are two reactants needed for cellular respiration?
GLUCOSE and OXYGEN  (C¢H1205 + Oy

c. What are three products of cellular respiration?
COz + H,0 + ATP’s

3. What four substances are recycled during photosynthesis and respiration?
CO2, H20, CsHi1206, O2

4. What is the one component in photosynthesis that is not recycled and must be

constantly available?
LIGHT

5. Are chloroplasts found in most plant cells? Explain.
MOST, BECAUSE MOST CARRY OUT PHOTOSYNTHESIS. NOT ALL-REMEMBER ONIONS?

6. Are mitochondria found in most plant cells? Explain.
YES, ALL CELLS CARRY OUT CELLULAR RESPIRATION.

7. Are chloroplasts found in animal cells? Explain.
NO, ANIMALS ARE HETEROTROPHS AND DO NOT CARRY OUT PHOTOSYNTHESIS.

8. Are mitochondria found in animal cells? Explain.
YES, ALL CELLS CARRY OUT CELLULAR RESPIRATION.

9. Write a grammatically correct sentence that compares the reactants and products of photosynthesis
with the reactants and products of respiration. Be ready to share your sentence with the class.

THE REACTANTS NEEDED FOR CELLULAR RESPIRATION ARE PRODUCED DURING
PHOTOSYNTHESIS; THE PRODUCTS FROM CELLULAR RESPIRATION ARE USED AS
REACTANTS IN PHOTOSYNTHESIS.

SUNLIGHT ENERGY IS REQUIRED FOR PHOTOSYNTHESIS, WHILE CELLULAR
RESPIRATION PRODUCES CHEMICAL ENERGY IN THE FORM OF ATP.
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1. Refer to Model 1.

a. In what cell organelle does photosynthesis occur?
CHLOROPLAST

b. What are three reactants needed for photosynthesis?
LIGHT + CO; + H,O

c. What are two products of photosynthesis?

GLUCOSE and OXYGEN  (GsHi206 + O2)




image13.png
11. As a group, make a quick list of the foods that you ate during your last meal. Hypothesize
what would happen to the supply of those foods if the sun’s energy was no longer available.

ALL FOODS CONTAIN CHEMICAL ENERGY THAT HAS PHOTOSYNTHESIS AS ITS ORIGIN.
ANIMAL PRODUCTS COME FROM ANIMALS THAT ATE PLANT PRODUCTS OR FROM
ANIMALS THAT ATE PLANTS.

*SUGAR IS A PLANT PRODUCT.

*FUNGI (MUSHROOMS) DECOMPOSE PLANT AND ANIMAL MATERIALS.

12. Explain how the energy used by an athlete during a football game comes from the
energy of sunlight.

ENERGY USED BY ATHLETES COMES FROM FOOD.
THAT ENERGY IS DIRECTLY SOURCED TO SOLAR ENERGY: PHOTONS FROM THE SUN.
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10. As a group carefully consider and discuss the following statement: “Plants can survive on
their own, because they make their own food. Animals can’t survive on their own but need plants
for survival.” Do you agree with this statement? Why or why not? Can you come to a consensus
as a group? Be ready to discuss your group’s response to this statement.

ANIMALS REQUIRE THE PRODUCTS OF PHOTOSYNTHESIS. PLANTS USE THESE
PRODUCTS FOR THEIR OWN CELLULAR RESPIRATION.

*ANIMALS ASSIST SOME PLANTS WITH POLLINATION AND RECYCLING NUTRIENTS
INTO THE SOIL.




image1.png
Greenhouse Effect

Warm up: Describe what is happening in the image to
the right.

Part 1 - Vocabulary
Greenhouse Effect:

Greenhouse Gas:

Part 2 - Molecules and Light Phet Simulation:
1. Open the Molecules and Light simulation:

http://phet.colorado.edu/en/simulation/molecules-and-light

2. Explore all of the controls in the simulation for about 5 minutes. Click on different things
and figure out what each one does. Write a brief (1-2 sentences) summary of what the
simulation does and shows.
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3. Examine how infrared (longwave energy) and visible light (shortwave energy) photons in
the simulation interact with each molecule. Record your observations below:

Molecules | Infrared (longwave) Visible Light (shortwave)

Cco

CO,

CH,
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. Which molecule(s) were not affected by either infrared (longwave) or visible (shortwave)
energy?

. Which molecule(s) absorbed and reemitted infrared (longwave) energy?

. Which of the molecule(s) would you consider to be greenhouse gases? Why?

How might an increase in the concentration (number) of greenhouse gases in Earth’s
atmosphere affect visible (shortwave) energy emitted from the Sun?

How might an increase in the concentration (number) of greenhouse gases in Earth’s
atmosphere affect infrared (longwave) energy emitted from the Earth?




